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 Posted By        : Pankaj Dey

HELLO!!!I am Pankaj Dey.I am a student of Haldia Institute Of Technology in Computerscience Dept.I  went for the pool Campussing which was held in Heritage Institute Of Technology.
There the selection procedure was divided in 4 steps,
1)General Aptitude Test.
2)GD.
3)Technical Interview.
4)HR.
 The aptitude test was not so hard but instead of that approx 140 candidates were eliminated in the aptitude test.Guys please dont follow the solutions given with the questions for CAPGEMINI.Max Questions came from the previous years set,given in the site.But some were new.The new questions were very easy. Try to solve  the questions and dont copy paste the answers given over here as all the answers r not right here..What ever .there were 25 questions in quants section and 25 were 4m reasoning section.There  were 2 sets of questions in the test.So be cool and rough work is mandatory in the answersheet.There were 10 cut off in each section,but i dont think that actually that was.I attempted 15 4m quants and 21 4m reasoning among 25 each.In the HR round I was asked that all were right in the aptitude test.some of them i am giving. below.
.Fresh Grapes contain 90% water by wt. Dried grapes contain 20% water by %age. What will b wt of dried grapes when we begin with 20 kg fresh grapes?
2kg / 2.4kg / 2.5kg /none ans:2.4 not 2.5
2.How many 5 digit no. can b formed wit digits 1, 2, 3,4,5,6 which r divisible by 4 and digits not repeated
144 / 168 / 192 / none ans:192
3.There is a rectangular Garden whose length and width are 60m X 20m.There is a walkway of uniform width around garden. Area of walkway is 516m^2. Find width of walkway
1/2/3/4 ans:3
4. In a race from pt. X to pt Y and back, Jack averages 0 miles/hr to pt Y and 10 miles/hr back to pr X. Sandy averages 20 miles/hr in both directions. If Jack and Sandy start race at same tIme, who’ll finish 1st
Jack/Sandy/they tie/Impossible to tell ans:sandy not (they may tie)
5. A man engaged a servant on a condition that he’ll pay Rs 90 and also give him a bag at the end of the yr. He served for 9 months and was given a turban and Rs 65. So the price of turban is
 i. Rs 10 / 19 / 0 / 55 ans:10
6. Three wheels make 36, 24, 60 rev/min. Each has a black mark on it. It is aligned at the start of the qn.When does it align again for the first time?
14/20/22/5 sec  ans:5
7. If 1= (3/4)(1+ (y/x) ) then
i.   x=3y
ii.  x=y/3
iii. x=(2/3)y               ans:x=3y
 iv. none
8. The sum of six consecutive odd nos. is 888. What is the average of the nos.?
i.  147
ii. 148
iii. 149        ans:148
iv. 146
9.An employee has to allocate offices to 6 staff members. The offices are no. 1-6. the offices are arranged in a row and they are separated from each other by dividers>hence voices, sounds and cigarette smoke flow easily from one office to another
Miss R needs to use the telephone quite often throughout the day. Mr. M and Mr. B need adjacent offices as they need to consult each other often while working. Miss H is a senior employee and his to be allotted the office no. 5, having the biggest window.
Mr. D requires silence in office next to his. Mr. T, Mr. M and Mr. D are all smokers. Miss H finds tobacco smoke allergic and consecutively the offices next to hers are occupied by non-smokers. Unless specifically stated all the employees maintain an atmosphere of silence during office hrs. 
a. The ideal candidate to occupy office farthest from Mr. B will be
i.   Miss H
ii.   Mr. M
iii.  Mr. T

iv.  Mr. D(right)

b. The three employees who are smokers should be seated in the offices
i.    1 2 4
ii.    2 3 6

iii.   1 2 3(right)

iv.   3 2 1
c. The ideal office for Mr. M would be
i.      2
ii.     6
iii.    1

iv.    3(right)

d. In the event of what occurrence within a period of one month since the assignment of the offices would a request for a change in office be put forth by one or more employees?
i.  Mr D quitting smoking
ii.  Mr. T taking over duties formally taken care of by Miss R
iii. The installation of a water cooler in Miss H’s office

iv. Mr. B suffering from anemia(right)

10.Ten coins are distr. Among 4 people P, Q, R, S such that one of them gets a coin, another gets 2 coins,3rd gets 3 coins, and 4th gets 4 coins. It is known that Q gets more coins than P, and S gets fewer coins than R 
a. If the no. of coins distr. To Q is twice the no. distr. to P then which one of the following. is necessarily true?
i. R gets even no. of coins
ii.  R gets odd no. of coins
iii. S gets even no. of coins

iv. S gets odd no. of coins

b. If R gets at least two more coins than S which one of the following is necessarily true?
i. Q gets at least 2 more coins than S

ii. Q gets more coins than P

iii. P gets more coins than S
iv. P and Q together get at least five coins
c. If Q gets fewer coins than R, then which one of the following is not necessarily true?

i.  P and Q together get at least 4 coins

ii. Q and S together get at least 4 coins
iii.R and S together get at least 5 coins
iv.P and R together get at least 5 coins 
11.Elle is  3 times older than Zaheer. Zaheer is ½ as old as Waheeda. Yogesh is elder than Zaheer.
a. What is sufficient to estimate Elle’s age?

i.Zaheer is 10 yrs old

ii.Yogesh and Waheeda are both older than Zaheer by the same no of yrs.
iii.Both of the above                                                                                    (Rest of the answers r same as given in 
iv.None of the above
the    

previous papers.....)

b. Which one of the following statements can be inferred from the info above
i.Yogesh is elder than Waheeda
ii.Elle is older than Waheeda
iii.Elle’s age may be less than that of Waheeda
iv.None of  the above


 some reasoning  were new but very easy..one of them is 4m some game.4 players were there and 4 games were there..and so so..
Now come to the GD round.Its totally a mass elemination round.So be careful.23 out of 53 cleared the GD.Total 6 groups were there,3 of each group were selected for the technical round.total 23 were selected.53 guys cleared the aptitude test. I was in the group 3.our Gd topic was "INDIA should adopt one child policy like CHINA or not",the other gd topics were KnightRider coach should do what to improve the quality of playing,Is GD necessary in the Capus recruitment or not,Indian film etc.
 
 Now the Technical Round,The last Elemination round.
I faced technical for approxmiately 1 hr.DBMS,C,C++,JAVA every thing was asked by the interviewer.My favourite subject was DBMS and Language were C,C++,JAVA.So i was asked questions from those things.and I was also asked questions from 10th level,physical science and geography. 
 Guys please be confident and fluent.Dont get nervous at all.This will give success to you.
  

All the students who cleared the Technical Round went for the HR Round.
There I was asked for the bonding of 1 year only and i was asked to tell about my self and hobbies and wheather I was mobile for any location or not..
         Thats all my experiance of approximately 14 hrs campussing of CAPGEMINI.I think it will help U guys.
I was so unfortunate that I could not get oppotunity in TCS , Wipro where 280 candidates of our college were placed 
.Just keep faith On GOD and try hard.Dont get FRUSTRATED LOOKING OTHERS.I and a guy 4m IT dept in our college were slected in CAPGEMINI at LAST..SO dont loose hope.
             Thank You and See You Soon In CAPGEMINI.
                ALL THE BEST>>>>>>>!!!!!!!!
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